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Q.No: 1  Which of the following statement is not correct regarding Viswanathan Anand?

2427530
o A B A1 B [y S & sy e e 82
He became the first Grandmaster of India in 1988.
A
96 1988 T YR & Ugal FSARER T
He was also the first recipient of the Rajiv Gandhi Khel Ratna Award, India's highest sporting honor, in 1991-92,
B
3 1991-92 ¥ YRA ¥ YdT= Fa THH IJeiid it B ¥ REBR F Ugd Wieepar off &1
In 2007, he was awarded the Padma Vibhushan, India's second-highest civilian award, making him the first sportsperson to receive the award.
C
2007 ¥, 3¢ YRd ¥ G Fales Re REGR, 721 faywor F wanfa frar mar, R 98 59 WEpR &) 0| H37 a1d Ued @ safqy 7 el
Became the first player to receive Bharat Ratna in 2014.
D

2014 ¥ YRT @ U FA T4 Tod Rae & |

Correct Ans : D

Subject : General Knowledge

Q.No: 2 Under , the Ottoman Empire conquered Constantinople
2427560
_ % J5d, P 9T A piefeAa W faee ura 3t
Orhan
A
3IREH
Mehmed II
B
TgHg 11
Murad III
C
TRTE T1I
Selim II
D
AT 11

Correct Ans : B

Subject : General Knowledge

Q.No: 3 was the last dynasty of China which reigned from 1644 to
2427569
= B Sife oY o oA 1644 GERUCERC
Shang Dynasty and 1919
A
T TET IR 1919
Qing Dynasty and 1912
B
T e SR 1912
Ming Dynasty and 1849
C

foT YT iR 1849
D Tang Dynasty and 1812
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i oY SR 1812

Correct Ans : B

Subject : General Knowledge

Q.No: 4
2428896

Globalisation is a concept.

T S@uRwm R

wider

broad

faeqa

multidimensional

SgomaT

narrow

et

Correct Ans : C

Subject : General Knowledge

Q.No: 5
2430530

Which of the following statement is not correct?

o & P 1 B T T 87

The first Olympic Games were held in 1896 in Athens.

g S @ 1896 H T H i e Il

Norman Pritchard was the first Indian to participate in the Olympic Games.

freiftres Vel H HIT A T e HR A S A

Women's participation started from the second Olympic Games in 1900.

1900 ¥ gWY Siifte Qe § wigansh H wrien TF g3

Indian Hockey team participated for the first time in 1924.

YR Tt < 3 vgel IR 1924 F o R o)

Correct Ans : D

Subject : General Knowledge

Q.No: 6
2431017

Snake Boat Race is related to which of the following festival?

Fofgfa e ds Fafafaa # § 5w dier 3 9dfa §2

Onam, Kerala

3o, R

Gangaur, Rajasthan

TUFIR, ISR

Bihu, Assam

&g, omm

Lodi, Punjab

A, v

Correct Ans : A

Subject : General Knowledge

GET IT ON

Google Play
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Q.No: 7 Aruna Asaf Ali was associated with which of the following movements?

2433570
B G el FHfafEa # & e sidar 4 991 {2
Non-Cooperation Movement
A
SN g
Civil Disobedience Movement
B
HIETG S BHiGIT
Individual Satyagraha
C
EESUcRiv
Quit India Movement
D

Rd BT S
Correct Ans : D

Subject : General Knowledge

Q.No: 8  What was the target of growth rate during the twelfth five-year plan?

2435771

e Gaafa dor & SRM e & BT a6 T AT

5 percent
A

5 i

6 percent
B

6 Tfomia

8 percent
(o)

8 v

10 percent
D

10 Tfaw

Correct Ans : C

Subject : General Knowledge

Q.No: 9  Which of the following countries shares the longest border with India?

2437356
Frafafea & § &1 91 3 WRG & W1y Fa Tt A A S o?
China
A
Eiul
Nepal
B
ot
Pakistan
C
Elcao ]
Bangladesh
D
EICiE

Correct Ans : D

Subject : General Knowledge

Q.No: 10 In which of the following states Holdo festival is celebrated?
2440794

frafafea & 9 f5u o9 § ST S T/ 9 §?
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A Punjab
Tere
Laddakh
B
R
Uttarakhand
C
RS

Himachal Pradesh

fomrea waRr

Correct Ans : D

Subject : General Knowledge

Q.No: 11  On 18th September, 2021, the Chief Minister Shivraj Singh Chouhan announced to name the Chhindwara University after-

2440989
18 RdaR, 2001 ! TEEER R Rig 9w A F T R fSeare! fayfaar o1 AW &= ot 9o S-
Raja Naresh shah
A
Tl TR W
Raja Shankar shah
B
il R I8
Raja Raghunath shah
C
NS TG =
Raja Hriday shah
D

Il §ad 8
Correct Ans : B

Subject : General Knowledge

Q.No: 12 The Tulsi Jayanti organized on the occasion of the birth anniversary of Saint Mahakavi Tulsidas is a -days celebration.
2441045
Td TETHId goiicr &t Tdl ¥ SfEWR W Ao ol s f&ft &1 3@ 7
two
A
@
three
B
Cist
four
c
kI
five
D
qig

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Who laid the foundation stone of the Sanchi University of Buddhist-Indic Studies?

2441060
it g WRelr I s fyfaeney @t stuRfRa fhe W@ty
Dalai Lama

A
TS A

B Maithripala Sirisena
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Peftaren R

Mahinda Rajapaksa
C

Afger Te0d

Ranil Wickremesinghe
D

et fasmaRie
Correct Ans : C

Subject : General Knowledge

Q.No: 14 Where was Nasir Aminuddin Dagar born?

2441093
TRR SN SRR &1 57 Fel gof uT?
Bhopal
A
alarer
Indore
B
@R
Ujjain
C
IS
Gwalior
D
HRER

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Since which year has the Madhya Pradesh State Agricultural Marketing Board been operational?

2441499
T o e Y fauum A1 fra af § Frika gon @2
1968
A
1968
1973
B
1973
1980
C
1980
1987
D
1987

Correct Ans : B

Subject : General Knowledge

Q.No: 16 In which year did the Indira Gandhi National Tribal University come into action?

2441521
e e g ety e fw af e # smre
2001

A
2001
2005

B
2005

C 2008
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2008

2011

2011
Correct Ans : C

Subject : General Knowledge

Q.No: 17 Tamot Plastic Park is in which district of Madhya Pradesh?

2441662
THIC Wi il Heawe™ & fara o & §2
Hoshangabad
A
BRIEG
Raisen
B
A
Sehore
C
R
Bhopal
D
sfare

Correct Ans : B

Subject : General Knowledge

Q.No: 18 Which of the following cities of Madhya Pradesh does not have ordnance manufacturing sites?

2441675
T om & Fafared & 3 feg TR & smgy fmfon v 7Y 2
Jabalpur
A
SIS
Katni
B
FeR
Itarasi
C
gerdt
Bhopal
D
lare

Correct Ans : D

Subject : General Knowledge

Q.No: 19 Judicial Officers' Training Institute (JOTI) was established in the premises of which of the following Courts?

2441689
=N et uier S (JoTT) Fafafe & & faa grrag & ufvar & wifia fasar mar are
Gwalior
A
IR
Indore
B
R
Bhopal
C
are
Jabalpur
D
SR

Correct Ans : D
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Subject : General Knowledge

Q.No: 20 The advocate general of Madhya Pradesh is appointed under which of the following articles of the Constitution of India?

2441721

T YR $ Heiiadd &1 Fyfa yRd & Wiy & fafafea § 9 59 sgwe ¥ ded 1 9 32

Article 161
A

DG 161

Article 162
B

DT 162

Article 163
C

ITDTE 163

Article 165
D

TS 165

Correct Ans : D

Subject : General Knowledge

Q.No: 21 water in humans facilitates:

2422826
T & O g 2 2
Bowel functioning
A
3 PTHPTS
Respiration
B
A1
Roughage digestion
c
A e
Fatigue and headache
D

U 3R RRad
Correct Ans : A

Subject : General Science

%l'\1202:82421 Which planetis called the ‘Blue Planet’?
Earth
A
it
Neptune
B
o
Saturn
C
i
Venus
D
TP

Correct Ans : D

Subject : General Science

Q.No: 23 The visible particles that can make water appear cloudy and hazy are
2422848
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T S S TF) Y AEd R Ul R awa g9 ¥

TSS
A

LSS

Pollen grains
B

TRIT S0

Hydrilla
c

TR

Cotton
D

DA™

Correct Ans : A

Subject : General Science

Q.No: 24 What are the diseases which do not occur through infections and body contacts called?

2423002
3 37 S HeH AU SR TR & FUSH § T SN, 1 o o7
Infectious diseases
A
epme A
Non-infectious diseases
B
IR-TpTF IT
transmissible di
C
R [T
epidemic diseases
D

TR AT

Correct Ans : B

Subject : General Science

Q-No: 25 C.O.L.S stands for-

2423013
C.0.L.S P T -
Compression Only Life Support
A
FEIRFA Sl AE® FUE
Cold Open Life Support
B
Fies AT ARP TUE
Compact Only Life Style
C
Firlge S aRE ©ET
Clear Offside Life Style
D

FIR SHEARS TEE ©RA
Correct Ans : A

Subject : General Science

Q.No: 26 How much unit of blood donated by a person can fulfill the need of three people at a time?
2423041

o Sl gRI R T Yad @) fvat gie te aR F diF il @t srazgedr S g1 aR addl 92

A Ten
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Four

o

Twelve

RE
Correct Ans : C

Subject : General Science

Q.No: 27 Which of the following is not a phyla of animal kingdom?

2428726
Frofaea # 9§ S 1 9Wsa 1 TP 99 T8 87
thallophyte
A
efrge
gymnosperms
B
e
bryophytes
C
TR
nemathelminths
D

AR

Correct Ans : D

Subject : General Science

Q-No: 28 Which one of the following does not belong to the phyla Platyhelminthes?

2428733
Frafafea & 4 -9 1o Wicsferm wE § J&ia T8 82
tapeworm
A
Cuapt
planaria
B
@
oysters
C
iLeacry
liver fluke
D
TP WP

Correct Ans : C

Subject : General Science

Q.No: 29  Which of the following is a feature of cryptogams?

2428819
Frafifad # 4 #1 Befa @ ue kv 82
true plant body.
A
I D TR
seedless, flowerless plants
B

i ¥feq, o W Y

GET IT ON

Google Play
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vascular system developed

Ao Ry FagHt ot

embryo develops from fertilized egg.

Frif oS & yor e grar R
Correct Ans : B

Subject : General Science

Q.No: 30 Pollutants that are not visible by naked eyes are termed as

2429019
U g S T S 9 e e A, e §
Increase pollution.
A
TG S
Reduce pollution
B
TGN B HH B
Ethanol
C
EOCIG
Invisible pollutants
D

T TP
Correct Ans : B

Subject : General Science

Q.No: 31 Which gas causes irritation of eyes?

2429031
I IR ofidl & e et R @2
Sulphur dioxide
A
TR SRS
Carbon dioxide
B
T SRS
Oxygen
Cc
ffefterT
Chlorine
D
FIN

Correct Ans : A

Subject : General Science

Q.No: 32 From which of the following factory water sources do we not get the water suitable for use?

2429037
PrfRa & 3 Rr sRER F o 9 S o8 Sw & R Sugw o e fira 32
Seawater is salty in nature but can be used in many ways like power plant cooking.
A
s e vt A @R S § A 59 o ke O Dl @) v § sRm b o g 81 ik @ we
Surface water is used for irrigation, in industries, in hydropower.
B
Tt ST 1 SYET wiodrs & o, Ie 3§, S fagga # fbar s 81
For drinking we use groundwater
C

1R ¥ T 70 Yo &1 ST aa §

D Rainwater cannot be used for watering lawns and gardens, bathing, laundry, etc.
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RN F g BT ST @i AR sriEl A o, oM, BUS 4 onfe & fo e v s wwar R
Correct Ans : D

Subject : General Science

Q.No: 33  What is the scientific name of a pea?

2429835
TR F1 ATIF 9 F1 ¢ ?
Pisum sativum
A
fom Sfegn
Pisum odoratus
B
e Tos
Pisum indica
C
form §Ra1
Pisum vulgare
D

g e
Correct Ans : A

Subject : General Science

Q.No: 34 __ isused as cooking gas.
2430075
1 IYUM TS 19 & w H {61 o g
CNG
A
et
LPG
B
et
PNG
C
Greroit
TNT
D
sl

Correct Ans : B

Subject : General Science

Q.No: 35 Acrylic is known as artificial wool or

2430113
Whe R phasiar___ & &y 9 o g
Nylon
A
G
Polyester
B
RURNG
Synthetic wool
C
s 5=
PVC
D
it

Correct Ans : C

Subject : General Science
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Q.No: 36 Find the wrong term in the series?

2422593
4,9, 20, 43, 90, 180
el | TTed $H BT Ul T
4,9, 20, 43, 90, 180
9
A
9
43
B
43
180
[
180
920
D
90

Correct Ans : C

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424522
ST Tk BT TG HIIY
Carbohydrate
A
Vitamins
B
et
Protein
C
WA
Fat
D
q9r

Correct Ans : B

Subject : General Reasoning

Q.No: 38 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426299

ABDC : FGIH :: HIK) : ?

I SHER-GIE BT TG Y ol R 3HER-E A I TR Hald § O GO 31eR-TE, T S1aR-9vg § Weifdd g1
ABDC : FGIH :: HIKJ : ?
STRP

STRP
MNPO

MNPO
DEFG

DEFG
D XYZA

GET IT ON

Google Play
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XYZA

Correct Ans : B

Subject : General Reasoning

Q.No: 39 A person starts walking from a point. Walks 2 km in north direction, turns right and walks 2 km, then turns right and walks. In which direction is he going now?
2426367

TF R A UET ¥ T T DT ¢ SR A H 2 fpaiiieR =adr 8, < gH S § $R 2 fraier Iar 8, fey <y S § ofR T 31 98 aant {5 9 oid i Wt fawm # o veT 87

East
A

o

West
B

ufym

North
c

TR

South
D

afor

Correct Ans : D

Subject : General Reasoning

%‘"‘21234909 Select the option /number which is related to 3" number in the same way as 28 number is related to a
1t number?

5:120:%3:7?

3W T [AweT & TUT FY SN A FEA 3 THR Faod § W gET FEAT Igair
T ¥ wEfea 2

5:120:3:?

1

12

12
60

60

6
Correct Ans : D

Subject : General Reasoning

‘21;‘”2%44313 Select the option /number which is related to 37 number in the same way as 224 number is related to a
It number?

9:8:16:?

3H TEAT [RAHeT HT T9 S A SO GEa ¥ 3 TER FEOdT § oW gud §Ear gger
e ¥ wERa §

9:8:416:?

16

16
32

32
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27

9
Correct Ans : C

Subject : General Reasoning

Q.No: 42 which of the following group best represents the given diagram?

2426609
frofafea & 9 o1 o Tz U U e &1 9ad s Ui F=a 82
Snake, Lizard, Reptile
A
Fiv, feuesd, T8gT
Snake, Reptile, Poisonous
B
9, T, e
Cat, Domestic, Wild
C
fareeh, e, ST
Frog, Reptile, Poisonous
D

Hew, Tgy, SRl

Correct Ans : B

Subject : General Reasoning

Q.No: 43 Find the missing term in the following series.

2428332
10, 30, 60, 100, ?, 210
Frofafed e # g ug I Sl
10, 30, 60, 100, ?, 210
170
A
170
140
B
140
160
C
160
150
D
150

Correct Ans : D

Subject : General Reasoning

Q.No: 44  Select the option that is related to the third term in the same way as the second term is related to the first term.
2429547

GTU : JWX :: CMN : ?

I ey 1 75 &% S R Ug I ST PR Heia @ SR gER1 U Ud UG 9 Hafdd 2

GTU : JWX :: CMN : ?
A FPQ
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FPQ
FQR

FQR
FPR

FPR
FOP

FOP
Correct Ans : A

Subject : General Reasoning

Q.No: 45 Savitha introduced a boy as the son of the only daughter of the father of her maternal uncle. How is boy related to Savitha?

2429579
TR 3 UH aSH B I AW S a1 3 gpaidt Gt & 7 F w0 A e ag@ &1 9l § g g€y g
Brother
A
g
Son
B
kol
Nephew
C
it
Son-in-law
D
I

Correct Ans : A

Subject : General Reasoning

Q.No: 46 Identify the figure that completes the pattern.

2433480 ]
I 3R & ugar o o def @Y i1 Bt B

A

B

c
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,f?
e

Correct Ans : C

Subject : General Reasoning

Q.No: 47  Select the option that will come next in the given series.

(o

)

©)

39 faweq &1 99 ¥ S < 1 g 7 3 S

€

)

2434157
8
&
3
A
8
®
B
8
®
C
D

&

GET IT ON
Google Play
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Correct Ans : A

Subject : General Reasoning

Q.No: 48 Identify the class that best represents the Venn-diagram:

2435578
I9 T Pt UgaH DY S -G BT I 31D TAMUE Pl 8
Reptiles, Crocodile, Snakes
A
WGy, ARAS, I
Homosapiens, Animals, children
B
e, Uy, 7=
Outdoor games, Ludo, Cricket
C
ISR |, @Y, e
Red, Fruits, vegetables
D

Correct Ans : B

Subject : General Reasoning

Q.No: 49  Aryan starts from point P and walks 50 m towards east. He then walks 10 m towards south and then walks 20 m to his right. Finally, he walks 50 m towards north to reach Q.
2438502 ¢, Q?

31 fiig P A T@T T a1 © 3R gd Ft @R 50 Hiex dwar 81 5% 98 gfamr Bt iR 10 Hiex Iaar 7 ok f5R ofe et ok 20 Hiex T@ar 71 ofd #, 98 Q 9@ Ugan ¥ iU IR F iR 50 e

South-west
A
Sfgor-ufzm
North
B
SR
South
C
afu
North-east
D
IR

Correct Ans : A

Subject : General Reasoning

Q.No: 50 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?
2438693
A
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i U QUUT 1 M TS IGT WX WM Wi, Tl <1 71 [debed SPITAl H U DI--31 el Ul 9id §II?

A
B
A
B
c
D

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Find the odd word/letters/ number from the given alternatives.

2438938

o U fawedt & I faww weey/seri/Tem & g

93
A

93

79
B

79

89
C

89
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97
Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440186 5in statement.

When government taxes, it also facilitates
A. Government taxed

B. Government did not tax

C. Government facilitated

D. Government did not facilitate

o T gy B e FF SR IS 918 IR HUA §| U BT BT G A, 8T Ugd HYF B dR IR U I 7, R & FYF difdd FY ¥ T FUF Y A T
S TRPR SR I §, < 7 glaer N A @

A. PR F BT TR

B. TSR 7 PR el oIl
C. TR 7 ghaur &

D. WHR 7 glawr 7 &
AC

AC
BA

BA
DA

DA
CcD

cD
Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440225 ain statement.

When someone files a complain, he gets a copy as receiving
A. someone filed a complain

B. someone did not file a complain

C. he got a copy as receiving

D. he did not get a copy as receiving.

U T Uy § T FA SR ISP 918 IR FUF & | ! BT B GH T, TET Ugd FUA F1 Ao G Y I B, 3R < T aifhs FU § g FF T WA B
e B RIBTd a9 Pl ¢, A I8 UF uid e F w9 F frerch §

A. f5dt 7 R o 3

B. feht 7 Riera aof 7t @5t

C. 3 Wi R & =Y H 0 v freft

D. 38 W@ &3 & w0 & T ufd e fivelt

AC
A

AC

BC
B

BC

DA
C

DA
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CcD
Correct Ans : A

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440428 main statement.

The rules are either lenient or fixed
A. The rules are lenient

B. The rules are not lenient

C. The rules are fixed

D. The rules are not fixed

U TTT wy B gy U AR IUF 918 TR FUT §| FU BT B TH I, 8T U8A HY P A g $YF V 8, 3R & Fu Aifde TU F gy $YF § 9 g
e 1 < 3aR § a1 Aia

A frm IeR €

B. fam Jer 7€ ¥

c.frmmd

D. fam 7 7l §

AB

AB
DA

DA
CA

CA
BD

BD
Correct Ans : B

Subject : General Reasoning

Q.No: 55 Select the related letters from the given alternatives.

2441959
CAE : XZV :: JHL : ?
fo g faepedi # 9 waiftrd starl @1 g
CAE: XZV :: JHL:?
Qso
A
Qso
IGK
B
IGK
PRU
c
PRU
GEI
D
GEI

Correct Ans : A

Subject : General Reasoning

Q.No: 56 gimplify: 40 — (60+66+ 11)
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2422343

WA DI 40— (60-66+11)

25
A

25

26
B

26

-26
(o

-26

27
D

27

Correct Ans : C

Subject : General Maths

Q.No: 57 Simplify: 519-[85 - {35 +2(9 = 3)}]

2422368

WA ST 519-[85 - {35 +2(9+3)}]

475
A

475

590
B

590

280
C

280

-270
D

-270

Correct Ans : A

Subject : General Maths

.No: 58 . . " 1 . .
2423505 Find the compound interest on Rs.2900 at the rate of 7% per annum for 15 years when interest is

compounded half yearly.

200059 & 1z ad & AT 7% 9 aF Y @ A TRgRE s AT AAT T w2 -
aifds w0 & gaferg fear amar 2

Rs.541.871
A

Rs.541.871

Rs.365.3789
B

Rs.365.3789

Rs.288.2121
C

Rs.289.2121

Rs.652.6247
D

Rs.652.6247

Correct Ans : D
Subject : General Maths

Q.No: 59 Find the compound interest on Rs.18300 for 9 months at 16% per annum compounded quarterly.
2423620

GET IT ON

Google Play
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18300 F9T BT 16% Ufd 9§ 3 R ¥ 9 TN o1 Tepgla & I FINT, afE e JuRe 2T B

Rs.450.438
A

Rs.450.438

Rs.12987.321
B

Rs.12987.321

Rs.2285.0112
C

Rs.2285.0112

Rs.6523.9878
D

Rs.6523.9878
Correct Ans : C

Subject : General Maths

Q.No: 60 Solve:

2428585
{23.89 x4 +5.05-1.3x 1.3-[30-8.4 x4+ (50.05+ 5+ 6.50f2)]}
kA
{23.89 x4+ 5.05-1.3 x 1.3-[30-8.4 x4+ (50.05+ 5+ 2P16.5)]}
79.51
A
79.51
78.51
B
78.51
80.51
C
80.51
79.61
D
79.61

Correct Ans : A

Subject : General Maths

Q.No: 61 The average of 7 consecutive numbers is n. If the next two numbers are included, the average will?

2432528
TR 7 s 1 e n §1 Al et &1 Hemel ®1 Wi B o wg, o sirea gme
increase by 2
A
23l
increase by 1
B
13
increase by 3
C
33 g
increase by 0
D

oW g
Correct Ans : B

Subject : General Maths

Q.No: 62 it _
A 2.7X2.7X2.7-0.027
Find the value of 7.29+0.81+0.09
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2.7X2.7X2.7-0.027

729+081+0.09 [ HIF JTd DIfoTT-

2.7
A

2.7

0.3
B

0.3

2.4
C

2.4

1.9
D

1.9

Correct Ans : C

Subject : General Maths

Q.No: 63 R
2434741 Find the factor of 25 —P2 - q2 - 2Pq

25— P2 — @2 — 2Pq & UGS JTd DI

(5+P+q) (5-P-q)

A
(5+P+q) (5-P-q)
(5+P-q) (5-P+q)
B
(5+P-q) (5-P+q)
(5+P-q) (5-p-q)
o
(5+P-q) (5-p-q)
(5+P+q) (5-P+q)
D

(5+P+q) (5-P+q)
Correct Ans : A

Subject : General Maths

Sasazgs Ifx*+x4=2207,x > 0, then find the value of 3(x — 7/2)2.

TfE xt + x4 = 2207, x> 0 &, Al 3(x — 7/2)* BT AH 1 BRI

36.75
A
36.75
49
B
49
21
C
21
33.75
D
33.75

Correct Ans : D

Subject : General Maths

(22‘-1'\‘305:26156 Jatin buys an article for 10% less thanits value and sellsit for 10% more thanits value. His gain is
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S U 9K DI TS Jed Y 10% HH R TRIG § R ITP Hra  10% 31U R
IUBIAU T

20%

Correct Ans : C

Subject : General Maths

Q.No: 66 On an article, the manufacturer earned a profit of 10%, the wholesale dealer earned 15%, and the retailer gain 25%, If its retail price is 1265, what is the cost price of its proc

2435236
TP I W RFmIAT 3 10% $T T FAM, 9 AR A 15% BT A Siiord e, iR Gex1 fawhar 1 25% 1 a1y T goT, afe e a1 $Id 1265 0 B, o $UP IdIe B and Jed I
1000
A
1000
800
B
800
1100
C
1100
900
D
900

Correct Ans : B

Subject : General Maths

Q.No: 67 Find the profit percentage, if Rahul buy a ball at the rate of 21 in Rs. 20. He sell at the rate of 20 in Rs. 21?

2435296
T TR T S, Al gd 20 U F 21 B R A 0P i Whedr § 9k 21 TUd F 20 T R G §9 &0 g7
21%
A
21%
10.25%
B
10.25%
15.05%
c
15.05%
10%
D
10%

Correct Ans : B

Subject : General Maths

Q.No: 68

2437474 Which of the following is equivalent to g?
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ﬁmﬁ%ﬁqmgéwﬁ?

108
15

108
15

Correct Ans : D

Subject : General Maths

Q.No: 69 Which of the following fraction is the smallest?
2437494

33 7 4
5'4'8'5

EEIRICRRER IR RIB R ER G C

vl w
INTR
EIES
(5] Y

olw

v | w w W W

@I~

@~

(LR

4
5

Correct Ans : B

Subject : General Maths

Q.No: 70 What will come in place of the question mark ‘?’ in the following equation?
2437554
(0.64 x 0.035 x 0.84 x 0.0625 + 0.0042) = ?

FrafaRea ariteo & wyaEs g 2! & RIF R T SMU?
(0.64 x 0.035 x 0.84 x 0.0625 + 0.0042) = ?
A 0.24
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0.24

0.28

0.28
0.32

0.32
0.4

0.4
Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language ‘RADIO’ is written ‘UDGLR' then ‘PHOTO’ will be written in the same language as?

2422543

gfe fpet Widsfas Hom & 'RADIO" 1 'UDGLR' fram &g df 'PHOTO" &I It 1w # feran g forf?

OTOHP
A

OTOHP

SKRWR
B

SKRWR

OIPUP
C

OIPUP

SKPWP
D

SKPWP

Correct Ans : B
Subject : Mental Ability

Q-No: 72 If in a symbolic language ‘LOVE’ is written *13P23F’ then 'LIFE’ will be written in the same language as?

2422573

g ot widhfod uTwn & 'LOVE' &1 '13P23F' foral 9Y dl *LIFE' 1 I8t W & feran e fored?

13L8F
A

13L8F

13J7F
B

1337F

13K8F
c

13K8F

13HSF
D

13HSF

Correct Ans : B

Subject : Mental Ability

(22‘-"\'205157931 In a row X is 13® from left end & 17% from right end. Then find the total number of students in the
given row?

T Ui H, X T BR ¥ 133 R AW BRI 1797 81 & & 7 o 7 e 9 o Jom 9a i

29
A

29

28
B

28
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c P74
27
26
D
26

Correct Ans : A
Subject : Mental Ability

Q.No: 74 In a certain code, 2 is coded as P, 3as N, 9as Q, 5 as R, 4 as A and 6 as B. How is 599423 coded in that code?

2426509

WA ESH, 2 H PFFUN, 3FINFEUH, 9P QFFUH, SHRFFUH, 4 FTAF FUH 3R 6 1 B F w0 § FHIfea 541 11 §) 30 F1S & 599423 &I HY i e smgmr?

EIIDBC
A

EIIDBC

RQPANB
B

RQPANB

EIMDBC
c

EIMDBC

RQQAPN
D

RQQAPN

Correct Ans : D
Subject : Mental Ability

Q.No: 75 Identify the set for the word DRAW.

2426539
e DRAW & fTT 9e! T4 &1 Ug Bl
41, 66, 23, 55
A
41, 66, 23, 55
32, 75, 44, 76
B
32, 75, 44, 76
23, 57, 30, 68
C
23, 57, 30, 68
14, 89, 12, 78
D

14, 89, 12,78
Correct Ans : D

Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430224 e to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: Modern people can influence their destiny for the choices they make like in the past.
Conclusions:
1. Earlier, there were few options available to people.

II. There was some desire in the past for the influence of destiny.

Frafafaa usl &, & o Q) By 1, 11 T IR0 FRA § SIS Sl oAl R AR S8R, 43§ 9 SidR | 19 a2t § Udid 89 @1 sius! 5 T T wue & afe fsey 81 df St 909

YT My AT orcfia F Sra gRT T MU fawedt & R o v &Y mifad R Ued §

e
L. ygd, il & fog o & ey Iuarey 1
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I1. YI'g & JUId & 1T, 3fdid # & Fw1 Ul

Only conclusion I follows

A
e iy T SgeR0 Sl §
Only conclusion II follows
B
Pad Y 1T SFER BT §
Either I or II follows
C
A T 47 IT SR Rl §
Neither I nor II follows
D

T 1 R II TR HRedl §
Correct Ans : A
Subject : Mental Ability

Q.No: 77 1In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430253 gre to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: An animal in the hand is worth two in the bush.
Conclusions:
1. We should be content with what we have done?

II. We should not crave for what is not done?

Frofafaa ust &, § T Q By 1, 11 T IR0 R § SAID! ST YAl TR IR S 8T, 4 & 3 SR W 31 a2l § Ueid 89 @1 oust 3y fow T wuet & afg fred €1 dt At 9am

PY: B H U@ SR TSt H & & IR 2
e

L. T0 St e © S99 o WqE o Amfen?

I1. St Tt e T § S forg gt o e =nfew?

Only conclusion I follows

A
Fad ey 1 SR FRal §
Only conclusion II follows
B
e Iy 11 SR &Rl §
Either I or II follows
C
T Q) I 91 1T 38R0 Rl §
Both I and II follow
D

I SR 11 S SIERY HRa §
Correct Ans : D
Subject : Mental Ability

Q.No: 78 In each question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at varian
2435466 (ecide which of the given conclusions logically follows from the given statements.

Statements:
1. Some swift are 110.
II. Some I10 are alto.
Conclusions:
I. Some swift are alto.

II. No swift is alto.

F g 7T vy F &1 o SR IuF a1g @) P 1 ok 11 Ru e ¥ Snut R T o Y e AT B, 918 3 UHRIE: 9 9t e el g 8, oot ke s § 5 Ry e s F 4 B
1. $9 AU 110 ¥l

I1. $B 110 M §l

ﬁl‘ﬂ?ﬁf:
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1. T U 1T B
11. $F e s Tl 81

Either conclusion I or II follows.

A
7 dt Sy 14T 1T 3R Rl 81
Neither conclusion I nor II follows.
B
T e 1 3R T 1 TR e B
Only conclusion II follows.
C
Fae Y IT SERY &=aT B
Both conclusions I and II follows.
D

I ey 1 iR 1T SRR Ra ¢
Correct Ans : A
Subject : Mental Ability

Q.No: 79 Three statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to be at variance with commonly known fac
2435526 logically follow(s) from the statements.

Statements:

1.Some frogs are fishes.
2.No fish is a whale.
3.Some sharks are frogs.
Conclusions:

I. Some fishes are sharks.

II. No sharks is a whale.

13 R T vy # $B HUF IR % 918 S FYAI W o1enRd Fo Fee U MU R, Tt I S i aat & fwar € gwd 3] Tt e o oiR R R 3% 7 g o e § e, R
FU:

3o Hed Hod gl

DI Ho & T 8

FB b Ao B

frspy:

1. $F TS WS g

1L % IF X TG

Only conclusion I

Faa sy 1

Only conclusion II

Faa ey 11

Neither conclusion I nor II

TFAff I RIS II

Both conclusion I and II.

frend 18R 11 9N

Correct Ans : C
Subject : Mental Ability

g‘-"\:';gsiog In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statement:
A2ZB>C<D<EXF
Conclusions:
I.LAZE
I.L.C>F
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Al e &, el & arg vad QU a1 g

fET 31T el & HFUR 9X oy &7 37earet Y AR 39 3o0 & &9 & 39gwd [aaed &1 a9 Hi|
FueT:

A2B>C<DS<E<ZF

oo

LAZE

ILC>F

Only conclusion II is true

A
Faa e 1T 9T
Only conclusion I is true
B
Faa fFpd 1 9
Either conclusion I or II is true
C
o fremd 1 AT 11 W
Neither conclusion I nor II is true
D

Fdfs 1 dRTR I IR

Correct Ans : D

Subject : Mental Ability

(22;1'\:‘,:;58710 In the following question, the statements are followed by conclusions. Study the conclusions based on the given

statements and select the appropriate option as your answer.
Statements:

H<J=K < I< F

Conclusions:

I.LH>1I

II.LI>F

TFATad W3 &, HUAT & ag sy G T g

f&T 37T T & HTUR R AHY T 7edTet B A 379 3T h &9 & S9Gad [damed & 9d H|
Fue:

H<)=K < I< F

forsw

LH>I

ILI>F

Only Conclusion I follows

A
o ey 199 §
Only Conclusion II follows
B
A I va
Either Conclusion I or II follows
C
A I A va?
Neither Conclusion I nor II follows
D

T dRTR I Ta R

Correct Ans : D
Subject : Mental Ability

(22‘-1";‘;58929 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
P>Q=R;S>R=N
Conclusions:
.Q<S
II.P<N
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EAfad W3 &, HUAT & alg ofsad G T §)

TEU 31T Ferell & HTUR I TeTshd T HeqTel Y IR HIA Sook & &9 & 39gard [qwed & a4 B
FHUT:

P>Q=R;S>R=N

e

.Q<S

ILP<N

If only I follows

A
Faa Prf 19 §
If only II follows
B
o e 11 T §
If either I or II follows
C
AP I vad
If neither I nor II follows
D

TARS 1 ARSI T’

Correct Ans : A
Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439085 haye to decide which of the given conclusions, if any follow from the given statements.

Statements:

Some carbons are oxygens.
Some carbons are hydrogens.
Conclusions:

I. All oxygens are hydrogens.

II. Some oxygons are not hydrogens.

12 e g vy § ) FuA U SuP UM 31 Fy 1 11 AU T E 1 o1l AT T T o) W A © , MY 61 96 Sdad ol 3 e Rl € 8T 9T Sl & SR TR ST SO SR S S |
FY:

$B BRI o I

TS P GG ¢

frsm:

1. Gt RIS grgor §1

I1. 9 i gRgeH Tl €1

Either conclusion I or II follows

A
77 3 ey 197 11 3R BT §
Both conclusion I and II follow
B
A Frepy T @R 1T SRR &Rd B
Only conclusion I follow
C
et Fse 1 iR R §
Only conclusion II follows
D

Y Frepd 1T ofgeR SRl &

Correct Ans : A

Subject : Mental Ability

Q.No: 84 Arrange the following words as per their order in the English dictionary.
2442681

1. RESIGN

2. REPAIR

3. RESIDUE

4. RESEARCH

5. RESCUE
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ol vl oF sReh Teaai # fau T w1 & oruR fiflu
1. RESIGN

2. REPAIR

3. RESIDUE

4, RESEARCH

5. RESCUE

4,5,3,1,2

4,5,3,1,2
2,5 43,1

2,5,4,3,1
2,5,4,1,3

2,541,3

54,312

54,3,1,2
Correct Ans : B
Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2442718

1. Forest

2. Fascinating

3. Fantastic

4. Fabulous

ol 2l o1 el Teadir & U T HH F orguR e
1. Forest

2. Fascinating

3. Fantastic

4. Fabulous

2,4,31

2,4,3,1
4,231

4,2,3,1

4,3,2,1

4,3,21
2,341

2,3,41
Correct Ans : C

Subject : Mental Ability

Q.No: 86 Which of the following is divisible by 6?

2427594
frafafea & 4 o1 6 J favra g2
327891

A
327891
257893

B
257893

C 468432

GET IT ON

Google Play
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468432
7426213

7426213
Correct Ans : C

Subject : General Aptitude

Q.No: 87 Roopa is twice as old as Kiran. If 10 years ago, Roopa was 4 times as old as Kiran, then the present ages of Roopa is:

2431227 w1 it 3y R0 & g 3 < B R 10 9 7d T Y omg, Rwr B omg 7 4 T R, Fw <o g R

30 year
A

30 9

28 year
B 28 a§

20 year
¢ 20 T

38 year
b 38T

Correct Ans : A

Subject : General Aptitude

Q.No: 88 Maximum number of points of intersection of four lines in a plane is:

2431347 g qq & 9R Tasl ¥ ifiwan uliese fSgef o Jem &

A
B
C

D

ul 0w a0 Ah

Correct Ans : B

Subject : General Aptitude

Q.No: 89 A car consumes 5.4 liters of petrol to cover 60.48 km, how many kilometers be covered with 22 liters of petrol?

2435979
60.48 forth @1 g8 99 F & o 0 R 5.4 Tex VT 3 Gud e 8, 22 Mex W F Wy e fseimiieR it gft a9 w-i afgee
246.4
A
246.4
243.5
B
243.5
240.24
€
240.24
233.62
D
233.62

Correct Ans : A

Subject : General Aptitude

Q.No: 90 A train 100 m long is running at a speed of 120 kms/ hr. The time taken to pass a person standing near the line is-

2436010
100 Hier Tvl us Y@met 120 fa. /6 3t IRR I 96 3 €1 0 U F IR WS TP Afad B UR $RA A 39 g ww @i
1 seconds
A
1358
3 seconds
B
33

C 5 seconds
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5 &S

7 seconds

7 3ds
Correct Ans : B

Subject : General Aptitude

Q.No: 91 The speed at which a person comes back home from his office, at a one-fourth speed, he goes to his office. If the average speed during the entire trip is 15 km/h. what would
2436022 the office?

TP AR 30 PRt S/ 1fd § TR a0 311 §, I99 TH-AUTS a9 98 S0 SEierT Sl §1 afg T R (trip) & GRM 3iNd 1fd 15kmy/h HeT §, @ At wH & SR S9@! 7 71 361 €

A2 kmph
A 8

%5- kmph

9 km/h
B

9 km/h

13—7 kmph
= 17

3 kmph

12—5 kmph
b 15

5 kmph

Correct Ans : A

Subject : General Aptitude

Q.No: 92 When a person covers the distance between his house and office at 50 km./hrs, he is late by 20 minutes. But when he travels at 60 km./ hrs. He reaches 10 minutes early. W
2436026 gnd his house?

e U AR 30 TR SR SR F g B gl 50 el /a0 & qu o 8, @ 97 20 e 38 F ugad 31 AT 99 98 60 /2 & 90 H¥a 3, @ 98 10 e St uggd §1 39 W IR

140 km.
A

140 foft.

160 km.
B

160 f&fl.

150 km.
C

150 .

120 km
D

120 &R

Correct Ans : C

Subject : General Aptitude

Q.No: 93 Rishi walks and cover certain distance by foot and return by car. Then he takes total time 37 min. If he travel the both distance by foot he takes 55 min. If he travels both diste
2436038 yue.

Y 1w il g (R A ud) ) Iga a9 T=a1 § 79T IRl IR F o § |l 95 37 BT 37 9Hg adr €1 9fe 95 <l ke Ugd 99 @l 55 e &1 99 dar 21 it 95 o SR o # gl kW @

55 min
A
55 e
19 min
B
19 fiFe
19/2 min
C
19/2 fiFe

D 37 min
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37 M

Correct Ans : B

Subject : General Aptitude

Q.No: 94 A can do a work in 12 days and B can do same work in 18 days. After 5 days of working together. how much work will be left?

2436079
ATE BRI 12 G F o) @1 3 iR B 36 o1 3F 18 AT & 3% qovdl 21 5 37 0 U6 919 oW T F 918, {1 H11 a1t 5 s
l
25
A
z
25
1_1
36
s u
36
s
13
B s
13
5
12
D 5
1z

Correct Ans : B

Subject : General Aptitude

Q.No: 95  Rohit can do a work in 13 days. With the help of Virat, the same work is finished in 6 days. If they get Rs. 1976 for that work. What is Virat's share. (In Rs.)

2436130
AT 13 &1 & 1 o1 B IR THdT 3| favie Bt A A, IH FW B 6 AT F 1 fovar oan 71 Y I I FW F w1976 Fu e B1 A v @1 fevn fva €2 (3@ H)
912
A
912
1012
B
1012
1064
c
1064
952
D
952

Correct Ans : C

Subject : General Aptitude

Q.No: 96  Which of the following statement is true?

2436153
Froffad § & S T e 82
HCF+LCM of two numbers = Product of the two numbers
A
< GEsH BT HCF+LCM = @) GeIsl &1 UHBa|
LCM of two natural numbers is divisible by their HCF.
B
3 St #1 HCF, A Semst o1 wad Bie SRS R §1
Two prime numbers are co-prime numbers if their LCM is 1.
C
Tfg €Y 3T WSl T LCM 1 B0 & § St we-arHTed et gt 1
HCF of two numbers is the smallest common divisor of both nhumbers.
D

3 AIpTae TEeH BT LCM SU& HCF & fawifora gar 81

Correct Ans : B
Subject : General Aptitude

Q.No: 97  The number 66249 is divisible by which of the single digit numbers:
2436157
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T/ 66249 faursa Temstt # F fvad gri favrsa &

Only by 3
A

Fad 3

Only by 9
B

Pad 9

Only by 3 and 7
Cc

Faa 3 IR 7 §R

Onlyyby3and9
D

Faa 3 AR 9 FERT
Correct Ans : D
Subject : General Aptitude

Q.No: 98 Alfa, Beta & Gamma can do a work in 10, 15 & 30 days. They all together start the work, after 3 days A left the work, next after 3 days B left the work. Then in how many day

2444456
3pT, dtet g T f5e S @Y 10, 15 9 30 T W IR Uwa &1 3 W Wy W YE FRd 71 3 T 918 36w $ B8 3T 31 IUB ST 3 3 a1 diter & Big &1 §1 Ot 7id Pifore i T [w g
5 days
A
51
3 days
B
3fT
9 days
o
9 faT
6 days
D
6T

Correct Ans : B
Subject : General Aptitude

Q.No: 99 A train running at the speed of 84 km hr passes a woman walking in opposite direction
2444484 athe speed of 6 kmhrin 4 seconds. Whatis the length of train (in meter) ?

84 Fa=T/erE £ 7R 3 ==t avlt U Wy o fafia R § 6 Emm frafa ®
T T TF AT FT 4 THT F F T 1 ey £ wang (. F) s At

120
A

120

150
B

150

100
C

100

180
D

180

Correct Ans : C

Subject : General Aptitude

Q.No: 100 DIRECTIONS: In each of the following number series a wrong number is given. Find the wrong number.
2444664
1, 2, 8, 48, 384, 3456
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TR TS HHICIRId 4l # U TTeld §&A1 &l T3 | ITerd AT J1d DR

1, 2, 8, 48, 384, 3456

2
A
2
48
B
48
8
C
8
3456
D
3456

Correct Ans : D
Subject : General Aptitude
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